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0z.text <- gsub("¥¥n", " ", text)
oz.text.nopunct <- gsub("¥¥W+", " ", oz.text)
oz.words <- strsplit(oz.text.nopunct, "¥¥W'")
oz.words <- unlist(oz.words)

write(oz.words, file="ozWords.txt")
length(oz.words)

0 39,456

> head(sort(table(oz.words), decreasing=T), 10)
0z.words

the and to of a I was in you he
2731 1593 1096 811 795 647 501 463 448 410

m Typed TokenOOOODOODOO

03940 20000000000
> oztt <- matrix(0, nrow=394, ncol=2)

goodooOoOonDO 394000000 Typed TokenOOO OO OO
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hile (i <= 394) {

y <- i * 100

tmp <- oz.words[1:y]

oztt[i,1] <- length(tmp)
oztt[i1,2] <- length(unique(tmp))
i< i+l
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> oztt <- as.data.frame(oztt)
> colnames(oztt) <- c(''token","type™)
> head(oztt)
token type
100 63
200 122
300 167
400 209
500 248
600 280
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>plot(oztt$token, oztt$type)
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> oztt$ttr <- oztt$type / oztt$token


http://corpustext.com/articles/corpus.html
http://sugiura-ken.org/wiki/wiki.cgi/exp?page=Type%A4%C8Token

> head(oztt)

token type ttr
100 63 0.6300000
200 122 0.6100000
300 167 0.5566667
400 209 0.5225000
500 248 0.4960000
600 280 0.4666667
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OtokenODOO0O0OO tyeOOOOODOOTTROOOODOOODOOOODO

> plot(oztt$token, oztt$type)
> par(new=T)
> plot(oztt$token, oztt$ttr, col = "red™)

m Guiraud IndexU O OO OO OOOOOOOOOOOOO

> oztt$gi <- oztt$type / sqrt(oztt$token)
> par(new=T)
> plot(oztt$token, oztt$gi, col = "blue™)
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ozttt <- matrix(0, nrow=1000, ncol=2)
Oi <1

Owhile (i <= 1000) {

O 0 tmp <- oz.words[1:i]

O 0O ozttt[1,1] <- length(tmp)

0 O ozttt[1,2] <- length(unique(tmp))
O0i <- i+l

o}

ozttt <- as.data.frame(ozttt)
colnames(ozttt) <- c(“token","type")

cor.test(ozttt$type, ozttt$token)
Pearson®s product-moment correlation

data: ozttt$type and ozttt$token
t = 234.34, df = 998, p-value < 2.2e-16
alternative hypothesis: true correlation is not equal to 0
95 percent confidence interval:
0.9898566 0.9920780
sample estimates:
cor
0.9910356

Im(ozttt$type ~ ozttt$token)
Call:

Im(formula = ozttt$type ~— ozttt$token)

Coefficients:
(Intercept) ozttt$token
43.8034 0.3761

#plot(ozttt$token, ozttt$type)
#abline(Im(ozttt$type  ozttt$token))

pred1000 <- predict(Im(ozttt$type ~ ozttt$token), interval = "prediction™)

J000D000 predicOO 0 0O0DDOO0ODOODOOODODOO
pred1000 <- as.data.frame(pred1000)



ooooooono
plot(ozttt$token, ozttt$type)

ooooooooooooooo
lines(ozttt$token, pred1000$fit, col = "black™)

oooooooo
lines(ozttt$token, pred1000$upr, col = "red™)

ooooooono
lines(ozttt$token, pred1000$lwr, col

“blue™)
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ozttl0t <- matrix(0, nrow=10000, ncol=2)
Oi <1

Owhile (i <= 10000) {

O 0O tmp <- oz.words[1:i]

0 0O oztt10t[i,1] <- length(tmp)

0 O oztt10t[i,2] <- length(unique(tmp))
O0i <- i+l

o}

ozttl0t <- as.data.frame(ozttl0t)
colnames(ozttl0t) <- c(''token","type™)

plot(ozttl0t$token, ozttl0t$type)
ozttl0t$ttr <- ozttlOt$type / ozttlOt$token

par(new=T)
plot(ozttl0t$token, ozttlOt$ttr, col = "red")

ozttl0t$gi <- ozttlOt$type / sqrt(ozttlOt$token)
par(new=T)
plot(ozttl0t$token, ozttl0t$gi, col = "blue™)
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